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OUTCOME:

PLAYER 1'S PAYOFFS:

 

bidding 100 equivalent to
bidding 150

100 0 0 0 0

100 50 0 0 0

100 50 0 0 0
v 50 100 50 0 50 0

100 50 0 50 100

U
if 2 wins

150 p if 7 win and pays p



IDSDS. The Iterated Deletion of Strictly Dominated Strategies 

 

Player 2

A

Player 1 B

C

FD E

 
 

 

8 6 0 9 3 8

3 2 2 1 4 3

2 8 1 5 3 1

 

O
R i player i i rational

i 1,2

Bit P

iq
b

1

2 4

1 If both players are

121 B2 R rational and
there is common belief

3 B R2 B1B2R that they both are rational

41 B2 B R2 B2 B B2 R



IDSDS. The Iterated Deletion of Strictly Dominated Strategies 

 

Player 2

A

Player 1 B

C

FD E

 
 

8 6 0 9 3 8

3 2 2 1 4 3

2 8 1 5 3 1



IDWDS. The Iterated Deletion of Weakly Dominated Strategies 

L R

A

T

M

B

Player 2

Player
1

 
 

4000
3 2 2 2

1 1 0 0

0 0 7 1

Prediction A L

striitly dominatedby T

now for Player 2 L weakly dominates R



IDWDS. The Iterated Deletion of Weakly Dominated Strategies 

L R

A

T

M

B

Player 2

Player
1

 
 

4000
3 2 2 2

1 1 0 0

0 0 7 1

Prediction T R

striitlydominated by T

X
weakly

dominated

byR in the smallergame



IDWDS. The Iterated Deletion of Weakly Dominated Strategies 

L R

A

T

M

B

Player 2

Player
1

 
 

4000
3 2 2 2

1 1 0 0

0 0 7 1

i

at every stage mark all
the strategies of all the

players that are weakly
or strictly dominated
then delete them all
in the same step

repeat in the smaller game

c B weaklydominatedbyA

D weanly by Cfie



Nash equilibrium 
 

   Player 2 
  D E F 

Player A    
1 B    
 C    

 

 

 

 

 

                        Player 2                          Player 2    

  C       D    C D 

Player A    T   

1 B    B   

         

Player 3 chooses F   Player 3 chooses G 
 

 

 

1 0 2 3 3 1

3 3 7 5 4 4

3 2 0 7 3 0

2 2 2 4 3 6 0 0 0 7 2 5

me 5 3 2 3 4 2 3 6 7 0 0 7

Be

aes besz
a b is a N.E if

111 IT a b IT b Kxes
12 Tz a b T2 a y Kyesz

0 Best reply function

O O O of Player 1
BR A 0 a BR 52 2

BR B E3
C D is a N.EBRz c p a

BRId B 3
BR E A3
BR F B

0000 A 00
0 0 00 00

S A B 5 C D 53 F G

N E A D F



Large game. 
150 students in a class, they simultaneously ask for a grade (A, 
B or C); if 20% or less ( i.e.  30) ask for an A then all requests 
are granted, otherwise they all get a C. 

Nash equilibria

everybody request an A

32 or more request A

exactly 30 request an A and the others request B

T


